ASF=EEE
[ dst=sH
O B2 SEANHAFESS 22 &35 FAHEKX k4t
O dp=E
O DIHXNSE AZFEEE 40 AHRUF=HOHH
] XASE
cre BEl | Zemm A=EM, AN, FHEN, EHSANM
o 26 32 1,42 1,52 5, 62 11, 72 7, JIS= 1
(%S_OL) s s | | pm § — X|
ATDO
(] Hlat 2 CERICEER)
2 = ol & of ol = o DS
24| 24 s2s
A 33,104| 100.00 % 17.055| 100.00 % 16,049  94.10%
N oM A Y 13,617|  41.13 % 9,542| 55.95 % 4,075 42.71%
& 29 | 88|  0.26 % 3|  0.54 % A5l A5.A0%
ol & 2 oy ol  0.00 % ol  0.00 % 0 0.00%
ol 2 Z 88|  0.26 % 93|  0.54 % A5l AB.40%
W 2 = = 19,400|  58.60 % 7.421|  43.51 % 11,080  161.44%
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